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= 18,100,000
s 2,665,097
403 X SHHMSAH=01H 20,765,097 9,120,000 11,645,097
= 18,100,000
& 2,665,097
01 A= 2L 20,765,097 9,120,000 11,645,097
Odt==Xcl== OIS A 20,765,097
= 18,100,000
= 2,665,097
St=Eo #X & 2e(BaHelAlE) 640,000 1,463,000 823,000
= 640,000
403 MR HHMSAHE01H 640,000 1,463,000 /823,000
= 640,000
01 AXISHHA=2 2L 640,000 1,463,000 /823,000
O2kXclAlZ 640,000
= 640,000
St=Eo) AX & 2tel(St==2tHEH| BILYUR) 37,007,000 36,126,000 881,000
= 37,007,000
403 MR EHSAHE01H 37,007,000 36,126,000 881,000
= 37,007,000
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=0l YA 313,000
[ 313,000
ot=Z ALY XI& 572,767 584,000 A11,233
403 MR SHHMSAH=01H 572,767 584,000 A11,233
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OS&ot=xelAle EXIXE 482,767
Ott=Hel7Y W Fatx H X(=
04) 90,000
=A2SSHEE 600,000 0 600,000
=SS A=Y 600,000 0 600,000
308 XtXIEMSO0IE 600,000 0 600,000
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O =NAZSEHE Y 600,000
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02 St=872 XL =0l AHake 6,523,200 3,669,300 2,853,900
ONN=sHELEE S 2,659,200
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Osa2elgRFA 33,600
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